
Horizontal multiplication

Math in English

Multiply the following numbers

1 9 =× 9 4 =× 2 9 =×

5 9 =× 10 9 =× 9 6 =×

9 3 =× 0 9 =× 9 1 =×

4 9 =× 7 9 =× 9 9 =×

9 0 =× 2 9 =× 9 5 =×

6 9 =× 9 7 =× 9 8 =×

8 9 =× 3 9 =× 9 10 =×

9



Horizontal multiplication

Math in English

Multiply the following numbers

1 99 =× 9 364 =× 2 189 =×

5 459 =× 10 909 =× 9 546 =×

9 273 =× 0 09 =× 9 91 =×

4 369 =× 7 639 =× 9 819 =×

9 00 =× 2 189 =× 9 455 =×

6 549 =× 9 637 =× 9 728 =×

8 729 =× 3 279 =× 9 9010 =×


